
qm=;= ljj/)F /sd dlxgf hDdf

497,429.0    j}zfv

484,115.0    c;f/

2 k'hLut dd{t ;"wf/ 175,676.0     c;f/      175,676.0 

«̂; lgdf{)f 1,940,643.0   c;f/

56,500.0     sG ]̂Gh]G;L

4 ejg dd{t 125,430.0    j}zfv 125,430.0     

5 d]lzg/L 61,328.0     j}zfv 61,328.0      

6

;+lrt sf]if -cf=j= 

074÷075 cyf{t rfn' 

ah]^df ;dfj]z ul/Psf] ._ 4658879 4,658,879.0    

   8,000,000.0 

qm=;= ljj/)F /sd

1 tnj eQf 834,570.0    

2
sfof{no ;~rfng tyf 

kmlgr/ 233,459.0    

3 : ]̂zg/L 336,141.0     

4 ufl* ef*f 128,000.0    

5 #/ ef*f 100,709.0    

6 OGwg 124,443.0    

7 lrofkfg÷ljljw vr{ 242,678.0    

hDdf 2,000,000.0   

;+#Lo ;+/rgf k'jf{wf/ ljsf; sfo{qmd rfn'ut ah]^ pklzif{s g+= 6021103

cf=j= 073÷074 sf] ;+#Lo ;+/rgf k'jf{wf/ ljsf; sfo{qmd tkm{ ;+#Lo dfldnf tyf 

:yfgLo  ljsf; dGqfnoaf^ k|fKt ?= 1,00,00,000. -cIf?kL ?= Ps s/f]*sf]_ vr{ 

/ df}Hbftsf] ljj/)F

hDdf

;+#Lo ;+/rgf k"jf{wf/ ljsf; sfo{qmd k'hLut vr{ -j=lz=g+= 6021103_

1 kmlg{r/
    981,544.0 

3
    1,997,143.0 


